Cautious Caterpillar Multiply and Divide

There are 10 spots on the ladybird’s back. 2. A grasshopper has 6 legs.
These are shared equally on each of her How many legs would
two wings. 5 grasshoppers have

in total?

How many spots are on each of the
ladybird’s wings?
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There are 14 stones near the stream. The ladybird goes on holiday and flies 5
A frog hops on half of them. " miles a day.
How many stones does

How many miles does she fly in a week?
the frog hop on?

—

There are 10 sunflowers planted in each

row. 6 It takes 45 litres of water to

water the plants in the garden.

Fisn ang The watering can will hold 5 litres of water.

sunflowers will be in
5 rows in total? How many full
watering cans would

be needed?
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